

## ON STURM-LIOUVILLE DIFFERENCE EQUATIONS\*

M. HORVÁTH, I. JOÓ AND A. SÖVEGJÁRTÓ

EÖTVÖS LORÁND UNIVERSITY  
Department of Numerical Analysis  
1117. Budapest, Bogdánfy u. 10/b.

Many papers are devoted to the study of the Sturm-Liouville equation by the corresponding difference equations, see [1-6]. In [1-3] the authors investigate the convergence and the speed of convergence in the class of smooth coefficients for special systems of nodes. In [4-5] homogeneous difference schemes are used for the solutions of Sturm-Liouville equations in the class  $Q^{(m)}$  of singular /i.e. not continuous/ coefficients.

In the present paper we investigate the approximation of Sturm-Liouville equations by difference equations /local error and convergence/. We shall use some result of V.A. Il'in and I. Joó [9-11].

### 1. Local error of approximation

#### 1.1. Local error for the equation

$$-u'' + q(x)u = \lambda u \quad \lambda \geq 0 \quad (1)$$

in case of equidistant nodes.

Consider the Sturm-Liouville problem (1) on an interval  $G$  /finite or not/. Suppose that

$$q \in L^\infty(G).$$

---

\*Some results of this paper are published in [15] without proofs.

As a solution we consider  $u \in L^2(G)$  such that  $u$  and  $u'$  are absolutely continuous on  $G$  and (1) holds a.e. on  $G$ . Let  $h > 0$  be the distance of nodes and approximate the equation (1) by the difference equation

$$-y_{xx} + d(x)y = \lambda y \quad (2)$$

where

$$y_{xx} := [y(x+h) + y(x-h) - 2y(x)]/h^2$$

$$d(x) := \frac{1}{h^2} \int_0^h [q(x+t) + q(x-t)](h-t) dt. \quad (3)$$

Here and in what follows we use the notation of the books [7-8]. Let

$$Lu := -u'' + qu - \lambda u$$

and the corresponding difference equation

$$\Delta u := -y_{xx} + dy - \lambda y.$$

### Theorem 1 [12]

If the above conditions hold, then the difference operator  $\Delta$  approximates the operator  $L$  on the first degree for the solutions of (1). In other words,

$$Lu = 0 \Rightarrow \Delta u = \underline{\underline{O}}(h).$$

If moreover  $q \in Lip1$ , then

$$Lu = 0 \Rightarrow \Delta u = \underline{\underline{O}}(h^2).$$

For the proof we need

Lemma 1 ([9],[11])

Let  $G$  be a finite interval and  $q \in L^1(G)$ , then (for complex eigenvalues  $\lambda$ )

$$\| u \|_{L^\infty(G)} \leq c(1 + | \operatorname{Im} \sqrt{\lambda} |)^{\frac{1}{2}} \| u \|_{L^2(G)}, \tag{4}$$

$$\| u' \|_{L^\infty(G)} \leq c(1 + | \sqrt{\lambda} |) \| u \|_{L^\infty(G)}. \tag{5}$$

We shall also use the Titchmarsh formula

$$\frac{u(x+h) + u(x-h)}{2} = u(x) \cos \sqrt{\lambda} h - \tag{6}$$

$$- \frac{1}{2\sqrt{\lambda}} \int_{x-h}^{x+h} q(\xi) u(\xi) \sin \sqrt{\lambda} (|x-\xi| - h) d\xi$$

if  $x \pm h \in G$  and  $\lambda \neq 0$ : for  $\lambda = 0$  the limit equality

$$\frac{u(x+h) + u(x-h)}{2} = u(x) - \tag{7}$$

$$- \frac{1}{2} \int_{x-h}^{x+h} q(\xi) u(\xi) (|x-\xi| - h) d\xi$$

holds. We shall deal only with the case  $\lambda \neq 0$ .

By the Titchmarsh formula (6)

$$u_{xx} = [u(x+h) + u(x-h) - 2u(x)]/h^2 =$$

$$= 2u(x) \frac{\cos\sqrt{\lambda}h - 1}{h^2} - \int_{x-h}^{x+h} q(\xi)u(\xi) \frac{\sin\sqrt{\lambda}(|x-\xi|-h)}{\sqrt{\lambda}h^2} d\xi$$

hence

$$-\Delta u = u_{xx} - du + \lambda u = 2u(x) \frac{\cos\sqrt{\lambda}h - 1 + \lambda h^2/2}{h^2} - \int_0^h [q(x+t)u(x+t) + q(x-t)u(x-t)] \frac{\sin\sqrt{\lambda}(t-h) - \sqrt{\lambda}(t-h)}{\sqrt{\lambda}h^2} dt$$

(8)

$$- \int_0^h [q(x+t)u(x+t) + q(x-t)u(x-t)] \frac{\sin\sqrt{\lambda}(t-h) - \sqrt{\lambda}(t-h)}{\sqrt{\lambda}h^2} dt$$

$$- \int_0^h [q(x+t)(u(x+t) - u(x)) - q(x-t)(u(x) - u(x-t))] \frac{t-h}{h^2} dt$$

$$=: I_1 + I_2 + I_3.$$

It is easy to see that

$$|I_1| \leq c\lambda^2 h^2 |u(x)| \tag{9}$$

$$\begin{aligned}
 |I_2| &\leq \frac{c}{\sqrt{\lambda}h^2} \int_0^h (\sqrt{\lambda}t)^3 dt \cdot \|u\|_{L^\infty(x-h, x+h)} \leq \\
 &\leq c\lambda h^2 \|u\|_{L^\infty(x-h, x+h)}.
 \end{aligned}
 \tag{10}$$

Using the fact that

$$u(x \pm t) - u(x) = tu'(\xi_\pm) \quad \text{for some } \begin{cases} x < \xi_+ < x+t \\ x-t < \xi_- < x \end{cases}$$

we obtain by (5) that

$$\begin{aligned}
 |I_3| &\leq \frac{c}{\sqrt{\lambda}h^2} \int_0^h \sqrt{\lambda}ht \|u'\|_{L^\infty(x-t, x+t)} dt \leq \\
 &\leq c(1 + \sqrt{\lambda})h \|u\|_{L^\infty(x-h, x+h)}
 \end{aligned}
 \tag{11}$$

so the first statement of Theorem 1 is proved.

To show the second one, rewrite  $I_3$  in the form

$$\begin{aligned}
 I_3 &= \frac{-1}{\sqrt{\lambda}h^2} \int_0^h \sqrt{\lambda}(t-h)t[q(x+t)u'(\xi_+) - q(x-t)u'(\xi_-)]dt = \\
 &= - \int_0^h \frac{(t-h)t}{h^2} u'(\xi_+) [q(x+t) - q(x)] dt
 \end{aligned}$$

$$\begin{aligned}
& - \int_0^h \frac{(t-h)t}{h^2} u'(\xi_-) [q(x) - q(x-t)] dt \\
& - \int_0^h \frac{(t-h)t}{h^2} q(x) [u'(\xi_+) - u'(\xi_-)] dt.
\end{aligned}$$

By (1) we have

$$\begin{aligned}
|u'(\xi_+) - u'(\xi_-)| & \leq h \|u''\|_{L^\infty(x-h, x+h)} \leq \\
& \leq ch(1+\lambda) \|u\|_{L^\infty(x-h, x+h)}
\end{aligned}$$

and hence

$$|I_3| \leq c \int_0^h h(1+\lambda) dt \cdot \|u\|_{L^\infty(x-h, x+h)} \leq \tag{12}$$

$$\leq c(1+\lambda)h^2 \|u\|_{L^\infty(x-h, x+h)}.$$

Theorem 1 is completely proved.

**1.2 Local error estimate for the equation  $-u'' + qu = \lambda u$  with non-equidistant nodes.**

In this point we approximate (1) by the difference equation

$$-y_{x\hat{x}} + dy = \lambda y \tag{13}$$

where

$$y_{x\hat{x}} := \frac{2}{h_+ + h_-} \left[ \frac{y(x + h_+) - y(x)}{h_+} - \frac{y(x) - y(x - h_-)}{h_-} \right],$$

$$d(x) := \frac{2}{h_+ + h_-} \left[ \frac{1}{h_+} \int_0^{h_+} q(x+t)(h_+ - t) dt + \right. \\ \left. + \frac{1}{h_-} \int_0^{h_-} q(x-t)(h_- - t) dt \right], \quad (14)$$

$$+ \frac{1}{h_-} \int_0^{h_-} q(x-t)(h_- - t) dt \Big],$$

$$x + h_+, x - h_- \in G.$$

We have

### Theorem 2

The difference operator  $\Lambda := -y_{x\hat{x}} + dy - \lambda y$  approximates  $L$  on the first degree for the solutions of (1),

$$Lu = 0 \Rightarrow \Lambda u = \underline{O}(\bar{h}), \quad \bar{h} := \max\{h_+, h_-\}.$$

### Proof

We need the asymmetric Titchmarsh formulae

$$u(x + h_+) = u(x) \cos \sqrt{\lambda} h_+ + u'(x) \frac{\sin \sqrt{\lambda} h_+}{\sqrt{\lambda}}$$

(15)

$$\begin{aligned}
& - \int_x^{x+h_+} q(\xi)u(\xi) \frac{\sin\sqrt{\lambda}(\xi-x-h_+)}{\sqrt{\lambda}} d\xi, \\
u(x-h_-) &= u(x)\cos\sqrt{\lambda}h_- - u'(x) \frac{\sin\sqrt{\lambda}h_-}{\sqrt{\lambda}} - \\
& - \int_{x-h_-}^x q(\xi)u(\xi) \frac{\sin\sqrt{\lambda}(x-\xi-h_-)}{\sqrt{\lambda}} d\xi.
\end{aligned}$$

Hence

$$\begin{aligned}
\frac{u(x+h_+) - u(x)}{h_+} &= u(x) \frac{\cos\sqrt{\lambda}h_+ - 1}{h_+} + u'(x) \frac{\sin\sqrt{\lambda}h_+}{\sqrt{\lambda}h_+} - \\
& - \int_0^{h_+} q(x+t)u(x+t) \frac{\sin\sqrt{\lambda}(t-h_+)}{\sqrt{\lambda}h_+} dt, \\
\frac{u(x-h_-) - u(x)}{h_-} &= u(x) \frac{\cos\sqrt{\lambda}h_- - 1}{h_-} - u'(x) \frac{\sin\sqrt{\lambda}h_-}{\sqrt{\lambda}h_-} - \\
& - \int_0^{h_-} q(x-t)u(x-t) \frac{\sin\sqrt{\lambda}(t-h_-)}{\sqrt{\lambda}h_-} dt
\end{aligned}$$

and then

$$u_{x\ddot{x}} - du + \lambda u = \frac{2}{h_+ + h_-} \left\{ u(x) \left[ \frac{\cos\sqrt{\lambda}h_+ - 1 + \lambda h_+^2/2}{h_+} \right. \right.$$



$$\begin{aligned}
 & + \frac{\cos\sqrt{\lambda}h_- - 1 + \lambda h_-^2 / 2}{h_-} \Big] + u'(x) \left[ \frac{\sin\sqrt{\lambda}h_+}{\sqrt{\lambda}h_+} - \frac{\sin\sqrt{\lambda}h_-}{\sqrt{\lambda}h_-} \right] - \\
 & - \int_0^{h_+} q(x+t)u(x+t) \frac{\sin\sqrt{\lambda}(t-h_+) - \sqrt{\lambda}(t-h_+)}{\sqrt{\lambda}h_+} dt - \\
 & - \int_0^{h_+} q(x+t)[u(x+t) - u(x)] \frac{\sqrt{\lambda}(t-h_+)}{\sqrt{\lambda}h_+} dt - \\
 & - \int_0^{h_-} q(x-t)u(x-t) \frac{\sin\sqrt{\lambda}(t-h_-) - \sqrt{\lambda}(t-h_-)}{\sqrt{\lambda}h_-} dt - \\
 & - \int_0^{h_-} q(x-t)[u(x-t) - u(x)] \frac{\sqrt{\lambda}(t-h_-)}{\sqrt{\lambda}h_-} dt \Big\} = \\
 & =: \frac{2}{h_+ + h_-} \{ I_1 + I_2 + I_3 + I_4 + \hat{I}_3 + \hat{I}_4 \}.
 \end{aligned}$$

We know that

$$| I_1 | \leq c\lambda^2 \bar{h}^3 | u(x) |,$$

$$| I_2 | \leq c\lambda^{\frac{1}{2}} \bar{h}^2 \frac{| u'(x) |}{\sqrt{\lambda}},$$

$$|I_3| \leq \frac{c}{\sqrt{\lambda}h_+} \int_0^{h_+} [\sqrt{\lambda}(h_+ - t)]^3 dt \cdot \|u\|_{L^\infty(x, x+h_+)} \leq$$

$$\leq c\lambda\bar{h}^3 \|u\|_{L^\infty(x, x+h_+)},$$

$$|\hat{I}_3| \leq c\lambda\bar{h}^3 \|u\|_{L^\infty(x-h_-, x)},$$

$$|I_4| \leq \frac{c}{\sqrt{\lambda}h_+} \int_0^{h_+} |u'(\xi_+)| t\sqrt{\lambda}(h_+ - t) dt \leq$$

$$\leq c(1 + \sqrt{\lambda})\bar{h}^2 \|u\|_{L^\infty(x, x+h_+)},$$

$$|\hat{I}_4| \leq c(1 + \sqrt{\lambda})\bar{h}^2 \|u\|_{L^\infty(x-h_-, x)}.$$

The above estimates prove Theorem 2.

### **1.3 Local error of the approximation of the equation**

$$-(p(x)u)' + q(x)u = \lambda u.$$

We consider the eigenfunctions of the above selfadjoint Sturm-Liouville operator with singular coefficient on a finite interval  $(a, b)$ . Let  $x_0 \in (a, b)$  be fixed and suppose that

$$0 < \alpha \leq p_1(x) \in C^2(a, x_0], \quad 0 < \beta \leq p_2(x) \in C^2[x_0, b)$$

$$q_1(x) \in C(a, x_0], \quad q_2(x) \in C[x_0, b)$$

and

$$p(x) := \begin{cases} p_1(x) & x < x_0 \\ p_2(x) & x > x_0, \end{cases}$$

$$q(x) := \begin{cases} q_1(x) & x < x_0 \\ q_2(x) & x > x_0. \end{cases}$$

A function  $u \neq 0$  is an eigenfunction with the eigenvalue  $\lambda \geq 0$  if

$$u(x) \in C[a, b], C^1[a, x_0], C^1[x_0, b], C^2(a, x_0), C^2(x_0, b)$$

further

$$-(p_1 u)' + q_1 u = \lambda u \quad \text{if } a < x < x_0 \tag{16}$$

$$-(p_2 u)' + q_2 u = \lambda u \quad \text{if } x_0 < x < b$$

finally if the derivatives satisfy

$$p_1(x)u'(x_0 - 0) = p_2(x)u'(x_0 + 0). \tag{17}$$

We apply the following non-equidistant difference scheme

$$u_{x\hat{x}} := \frac{2}{\sqrt{p_2(x_0)h_+} + \sqrt{p_1(x_0)h_-}} \left[ \frac{\sqrt{p_2(x_0 + \varrho_2(h_+))}(u(x_0 + \varrho_2(h_+)) - u(x_0))}{h_+} + \frac{\sqrt{p_1(x_0 - \varrho_1(h_-))}(u(x_0 - \varrho_1(h_-)) - u(x_0))}{h_-} \right],$$

where the functions  $\varrho_1(t), \varrho_2(t)$  are defined for  $t > 0$  by

$$\int_{x_0 - \varrho_1(t)}^{x_0} \frac{1}{\sqrt{p_1}} = t, \quad \int_{x_0}^{x_0 + \varrho_2(t)} \frac{1}{\sqrt{p_2}} = t. \quad (18)$$

The Titchmarsh type formula we shall use here is essentially given in [10]. Namely consider the function

$$w(x) := \begin{cases} \frac{1}{\sqrt{\lambda}} \sin \sqrt{\lambda} \left( \int_{x_0}^x \frac{1}{\sqrt{p_2}} - h_+ \right) & x_0 < x \leq x_0 + \varrho_2(h_+), \\ \frac{1}{\sqrt{\lambda}} \sin \sqrt{\lambda} \left( \int_x^{x_0} \frac{1}{\sqrt{p_1}} - h_- \right) & x_0 - \varrho_1(h_-) \leq x < x_0. \end{cases}$$

Then we have

$$(pw')' = -\lambda w + \begin{cases} \frac{p_2'(x)}{2\sqrt{p_2(x)}} \cos \sqrt{\lambda} \left( \int_{x_0}^x \frac{1}{\sqrt{p_2}} - h_+ \right) \\ -\frac{p_1'(x)}{2\sqrt{p_1(x)}} \cos \sqrt{\lambda} \left( \int_x^{x_0} \frac{1}{\sqrt{p_1}} - h_- \right). \end{cases} \quad (19)$$

Twofold integration by parts gives

$$\begin{aligned} & \int_{x_0}^{x_0 + \varrho_2(h_+)} [(pw')' u - (pu')' w] = [p_2 w' u - p_2 w u']_{x_0}^{x_0 + \varrho_2(h_+)} = \\ & = \sqrt{p_2(x_0 + \varrho_2(h_+))} u(x_0 + \varrho_2(h_+)) - \sqrt{p_2(x_0)} u(x_0) \cos \sqrt{\lambda} h_+ - \\ & \quad - p_2(x_0) u'(x_0 + 0) \frac{\sin \sqrt{\lambda} h_+}{\sqrt{\lambda}}, \end{aligned}$$

$$\begin{aligned}
& \int_{x_0 - \varrho_1(h_-)}^{x_0} [(pw') \cdot u - (pu') \cdot w] = [p_1 w' u - p_1 w u']_{x_0 - \varrho_1(h_-)}^{x_0} = \\
& = \sqrt{p_1(x_0 - \varrho_1(h_-))} u(x_0 - \varrho_1(h_-)) - \sqrt{p_1(x_0)} u(x_0) \cos \sqrt{\lambda} h_- + \\
& \quad + p_1(x_0) u'(x_0 - 0) \frac{\sin \sqrt{\lambda} h_-}{\sqrt{\lambda}}.
\end{aligned}$$

Taking into account (19), (17) and the equality  $-\lambda u - (pu') \cdot = -qu$  we obtain that

$$u_{x\hat{x}} = \frac{2}{\sqrt{p_2(x_0)} h_+ + \sqrt{p_1(x_0)} h_-}. \quad (20)$$

$$\begin{aligned}
& \cdot \left\{ p_2(x_0) u'(x_0 + 0) \left[ \frac{\sin \sqrt{\lambda} h_+}{\sqrt{\lambda} h_+} - \frac{\sin \sqrt{\lambda} h_-}{\sqrt{\lambda} h_-} \right] + \sqrt{p_2(x_0)} u(x_0) \cdot \right. \\
& \cdot \frac{\cos \sqrt{\lambda} h_+ - 1 - \lambda h_+^2 / 2}{h_+} + \sqrt{p_1(x_0)} u(x_0) \frac{\cos \sqrt{\lambda} h_- - 1 - \lambda h_-^2 / 2}{h_-} \\
& \quad \left. - \lambda u(x_0) \left[ \sqrt{p_2(x_0)} \frac{h_+}{2} + \sqrt{p_1(x_0)} \frac{h_-}{2} \right] \right. \\
& - \int_{x_0}^{x_0 + \varrho_2(h_+)} q_2(x) u(x) \frac{\sin \sqrt{\lambda} \left( \int_{x_0}^x \frac{1}{\sqrt{p_2}} - h_+ \right)}{\sqrt{\lambda} h_+} dx \\
& \quad \left. - \int_{x_0 - \varrho_1(h_-)}^{x_0} q_1(x) u(x) \frac{\sin \sqrt{\lambda} \left( \int_x^{x_0} \frac{1}{\sqrt{p_1}} - h_- \right)}{\sqrt{\lambda} h_-} dx \right.
\end{aligned}$$

$$\begin{aligned}
& + \frac{1}{h_+} \int_{x_0}^{x_0 + \varrho_2(h_+)} \left[ u(x) \cos \sqrt{\lambda} \left( \int_{x_0}^x \frac{1}{\sqrt{p_2}} - h_+ \right) - u(x_0) \right] \frac{p_2'(x)}{2\sqrt{p_2(x)}} dx \\
& - \frac{1}{h_-} \int_{x_0 - \varrho_1(h_-)}^{x_0} \left[ u(x) \cos \sqrt{\lambda} \left( \int_x^{x_0} \frac{1}{\sqrt{p_1}} - h_- \right) - u(x_0) \right] \frac{p_2'(x)}{2\sqrt{p_2(x)}} dx.
\end{aligned}$$

Define now the difference analogon of the potential  $q$  by

$$\begin{aligned}
d(x_0) := & \frac{2}{\sqrt{p_2(x_0)}h_+ + \sqrt{p_1(x_0)}h_-} \left\{ \frac{1}{h_+} \int_{x_0}^{x_0 + \varrho_2(h_+)} q_2(x) \right. \\
& \left. \left( \int_{x_0}^x \frac{1}{\sqrt{p_2}} - h_+ \right) dx + \right. \\
& \left. + \frac{1}{h_-} \int_{x_0 - \varrho_1(h_-)}^{x_0} q_1(x) \left( \int_x^{x_0} \frac{1}{\sqrt{p_1}} - h_- \right) dx \right\}.
\end{aligned}$$

### Theorem 3

Let

$$Lu := -(pu)'' + qu - \lambda u$$

$$\Delta u := -u_{x\ddot{x}} + du - \lambda u.$$

Suppose further that  $p_1'(x_0)p_2'(x_0) < 0$ . Then in the discontinuity point  $x_0$  we have an approximation of first degree:

$$Lu = 0 \Rightarrow \Lambda u(x_0) = \underline{0}(\bar{h}), \quad \bar{h} := \max\{h_+, h_-\},$$

whenever we chose  $h_+, h_-$  satisfying

$$h_+ \frac{p_2'(x_0)}{\sqrt{p_2(x_0)}} + h_- \frac{p_1'(x_0)}{\sqrt{p_1(x_0)}} = 0. \tag{21}$$

Proof

From (20) we get the equality

$$\begin{aligned} u_{x\hat{x}} - du + \lambda u &= \frac{2}{\sqrt{p_2(x_0)h_+} + \sqrt{p_1(x_0)h_-}} \cdot \\ &\cdot \left\{ p_2(x_0)u'(x_0 + 0) \left[ \frac{\sin\sqrt{\lambda}h_+}{\sqrt{\lambda}h_+} - \frac{\sin\sqrt{\lambda}h_-}{\sqrt{\lambda}h_-} \right] + \right. \\ &+ u(x_0) \left[ \sqrt{p_2(x_0)} \frac{\cos\sqrt{\lambda}h_+ - 1 + \lambda h_+^2/2}{h_+} + \right. \\ &\left. \left. + \sqrt{p_1(x_0)} \frac{\cos\sqrt{\lambda}h_- - 1 + \lambda h_-^2/2}{h_-} \right] - \right. \\ &\left. - \int_0^{a_2(h_+)} q_2(x_0 + t)u(x_0 + t) \right. \\ &\left. \frac{\sin\sqrt{\lambda} \left( \int_{x_0}^{x_0+t} \frac{1}{\sqrt{p_2}} - h_+ \right) - \sqrt{\lambda} \left( \int_{x_0}^{x_0+t} \frac{1}{\sqrt{p_2}} - h_+ \right)}{\sqrt{\lambda}h_+} dt - \right. \end{aligned}$$

$$\begin{aligned}
& - \int_0^{e_1(h_-)} q_1(x_0 - t)u(x_0 - t) \\
& \frac{\sin\sqrt{\lambda}\left(\int_{x_0-t}^{x_0} \frac{1}{\sqrt{p_1}} - h_-\right) - \sqrt{\lambda}\left(\int_{x_0-t}^{x_0} \frac{1}{\sqrt{p_1}} - h_-\right)}{\sqrt{\lambda}h_-} dt - \\
& - \int_0^{e_2(h_+)} q_2(x_0 + t)[u(x_0 + t) - u(x_0)] \frac{\int_{x_0}^{x_0+t} \frac{1}{\sqrt{p_2}} - h_+}{h_+} dt - \\
& - \int_0^{e_1(h_-)} q_1(x_0 - t)[u(x_0 - t) - u(x_0)] \frac{\int_{x_0-t}^{x_0} \frac{1}{\sqrt{p_1}} - h_-}{h_-} dt + \\
& + \frac{1}{h_+} \int_0^{e_2(h_+)} \frac{p_2'(x_0 + t)}{2\sqrt{p_2}(x_0 + t)} [u(x_0 + t)\cos\sqrt{\lambda} \\
& \left(\int_{x_0}^{x_0+t} \frac{1}{\sqrt{p_2}} - h_+\right) - u(x_0)] dt - \\
& - \int_0^{e_1(h_-)} \frac{1}{h_-} \frac{p_1'(x_0 - t)}{2\sqrt{p_1}(x_0 - t)} \\
& \cdot [u(x_0 - t)\cos\sqrt{\lambda}\left(\int_{x_0-t}^{x_0} \frac{1}{\sqrt{p_1}} - h_-\right) - u(x_0)] dt =
\end{aligned}$$



$$=: \frac{2}{\sqrt{p_2(x_0)h_+} + \sqrt{p_1(x_0)h_-}} \{I_1 + I_2 + I_3 + \hat{I}_3 + I_4 + \hat{I}_4 + I_5 + \hat{I}_5\}.$$

From the expansions of  $\sin x$  and  $\cos x$  we see that with the notation

$$K := [x_0 - \varrho_1(h_-), x_0 + \varrho_2(h_+)]$$

we have

$$|I_1| \leq c(\lambda + 1)^{3/2} \bar{h}^2 \|u\|_{L^\infty(K)},$$

$$|I_2| \leq c\lambda^2 \bar{h}^3 |u(x_0)|.$$

Now if  $\bar{h}$  is small enough then the segment  $K$  is not too close to the boundary points  $a$  and  $b$ , hence  $\frac{1}{\sqrt{p_i}}, i = 1, 2$  are bounded from below and then

$$h_+ = \int_{x_0}^{x_0 + \varrho_2(h_+)} \frac{1}{\sqrt{p_2}} \geq c\varrho_2(h_+),$$

$$h_- = \int_{x_0 - \varrho_1(h_-)}^{x_0} \frac{1}{\sqrt{p_1}} \geq c\varrho_1(h_-).$$

Using this we see that

$$|I_3| \leq c\lambda h_+^2 \varrho_2(h_+) \|u\|_{L^\infty(K)} \leq$$

$$\leq c\lambda \bar{h}^3 \|u\|_{L^\infty(K)},$$

$$\begin{aligned} |\hat{I}_3| &\leq c\lambda h_-^2 \varrho_1(h_-) \|u\|_{L^\infty(K)} \leq \\ &\leq c\lambda \bar{h}^3 \|u\|_{L^\infty(K)}. \end{aligned}$$

By (5) we get then

$$|I_4|, |\hat{I}_4| \leq c(1 + \sqrt{\lambda})\bar{h}^2 \|u\|_{L^\infty(K)}.$$

To estimate  $I_5$  we take a decomposition of the integrand:

$$\begin{aligned} \left| \int_0^{a_2(h_+)} u(x_0 + t) \frac{p_2'(x_0 + t)}{2\sqrt{p_2(x_0 + t)}} \frac{\cos\sqrt{\lambda}\left(\int_{x_0}^{x_0+t} \frac{1}{\sqrt{p_2}} - h_+\right) - 1}{h_+} dt \right| &\leq \\ &\leq c\lambda \bar{h}^2 \|u\|_{L^\infty(K)}, \end{aligned}$$

$$\begin{aligned} \left| \int_0^{a_2(h_+)} [u(x_0 + t) - u(x_0)] \left( \frac{p_2'(x_0 + t)}{2\sqrt{p_2(x_0 + t)}} - \frac{p_2'(x_0)}{2\sqrt{p_2(x_0)}} \right) \frac{1}{h_+} dt \right| &\leq \\ &\leq c(1 + \lambda)\bar{h}^2 \|u\|_{L^\infty(K)} \end{aligned}$$

which shows that

$$\left| I_5 - \frac{1}{h_+} \int_0^{a_2(h_+)} [u(x_0 + t) - u(x_0)] \frac{p_2'(x_0)}{2\sqrt{p_2(x_0)}} dt \right| \leq$$

$$\leq c(1 + \lambda)\bar{h}^2 \| u \|_{L^\infty(K)} .$$

Analogously

$$\begin{aligned} \left| \hat{I}_5 + \frac{1}{h_-} \int_0^{e_1(h_-)} [u(x_0 - t) - u(x_0)] \frac{p_1'(x_0)}{2\sqrt{p_1(x_0)}} dt \right| &\leq \\ &\leq c(1 + \lambda)\bar{h}^2 \| u \|_{L^\infty(K)} . \end{aligned}$$

We know that

$$\begin{aligned} | u(x_0 + t) - u(x_0) - tu'(x_0 + 0) | &\leq ct^2 \| u'' \|_{L^\infty(K)} \leq \\ &\leq ct^2(1 + \lambda) \| u \|_{L^\infty(K)} , \end{aligned}$$

hence

$$\begin{aligned} \left| I_5 - \frac{1}{h_+} \frac{p_2'(x_0)}{2\sqrt{p_2(x_0)}} \int_0^{e_2(h_+)} u'(x_0 + 0)t dt \right| &\leq \\ &\leq c(1 + \lambda)\bar{h}^2 \| u \|_{L^\infty(K)} , \end{aligned}$$

and analogously

$$\begin{aligned} \left| \hat{I}_5 - \frac{1}{h_-} \frac{p_1'(x_0)}{2\sqrt{p_1(x_0)}} \int_0^{e_1(h_-)} u'(x_0 - 0)t dt \right| &\leq \\ &\leq c(1 + \lambda)\bar{h}^2 \| u \|_{L^\infty(K)} . \end{aligned}$$

We have

$$h_+ = \int_0^{\varrho_2(h_+)} \frac{1}{\sqrt{p_2}} = \frac{\varrho_2(h_+)}{\sqrt{p_2(x_0)}} + \underline{O}(\bar{h}^2),$$

$$\frac{1}{2}[\varrho_2(h_+)]^2 = \frac{h_+^2}{2} p_2(x_0) + \underline{O}(\bar{h}^3),$$

consequently

$$\left| I_5 - h_+ \frac{p_2'(x_0)}{4\sqrt{p_2(x_0)}} p_2(x_0) u'(x_0 + 0) \right| \leq c(1 + \lambda) \bar{h}^2 \|u\|_{L^\infty(K)}$$

and analogously

$$\left| \hat{I}_5 - h_- \frac{p_1'(x_0)}{4\sqrt{p_1(x_0)}} p_1(x_0) u'(x_0 - 0) \right| \leq c(1 + \Lambda) \bar{h}^2 \|u\|_{L^\infty(K)}$$

so

$$\begin{aligned} \left| I_5 + \hat{I}_5 - p_2(x_0) u'(x_0 + 0) \left[ h_+ \frac{p_2'(x_0)}{4\sqrt{p_2(x_0)}} + h_- \frac{p_1'(x_0)}{2\sqrt{p_1(x_0)}} \right] \right| \leq \\ \leq c(1 + \lambda) \bar{h}^2 \|u\|_{L^\infty(K)} \end{aligned}$$

holds if (17) is true. Hence we have to choose the pairs  $h_+, h_-$  such that (21) holds and this is ensured whenever  $p_2'(x_0)p_1'(x_0) < 0$ . The above estimates prove Theorem 3.

## 2. Inhomogeneous Sturm-Liouville difference equation

$$-u'' + qu = f$$

with boundary conditions.

**2.1** Difference approximation for equidistant nodes. Consider the following boundary value problem

$$-u_n'' + qu_n = \lambda_n u_n \quad 0 < x < 1 \quad (22)$$

$$u_n(0) = u_n(1) = 0$$

with  $q \in C[0, 1]$ . It is known that in this case the eigenfunctions  $(u_n)_{n=1}^{\infty}$  form complete orthonormal system in  $L^2(0, 1)$ , the eigenvalues  $\lambda_n$  are real and tend to  $+\infty$ . If we add a positive constant to  $q$  we can ensure that

$$\lambda_n \geq 1;$$

we shall suppose it. Consider further the equation

$$-u'' + qu = f \quad (23)$$

$$u(0) = u(1) = 0$$

and its difference analogon

$$-y_{xx} + dy = f, x \in \omega_h := \{x_i = ih, 0 < i < N\} \quad (24)$$

$$y_0 = y_N, \quad h = \frac{1}{N}$$

where  $y_{xx}$  and  $d$  are defined as in Theorem 1. We shall prove Theorem 4

Let  $f \in C^2[0,1]$ ,  $-f'' + qf \in C^2[0,1]$ ,  $0 = f(0) = f(1) = (-f'' + qf)(0) = (-f'' + qf)(1)$ . Define the operators  $Lu := -u'' + qu - f$ ,  $\Lambda u := -u_{xx} + du - f$ . Now if  $u, u'$  are absolutely continuous and  $u(0) = u(1) = 0$ , then

$$Lu = 0 \Rightarrow \max_{x \in \omega_h} |\Lambda u(x)| = \underline{O}(h).$$

If, in addition,  $q \in Lip1$  then

$$Lu = 0 \Rightarrow \max_{x \in \omega_h} |\Lambda u(x)| = \underline{O}(h^2).$$

### Proof

Consider the expansion of  $f(x)$ :

$$f = \sum_{n=1}^{\infty} c_n u_n.$$

Here

$$c_n = \langle f, u_n \rangle = \langle f, \frac{-u_n'' + qu_n}{\lambda_n} \rangle = \langle -f'' + qf, \frac{u_n}{\lambda_n} \rangle.$$

It is known from the spectral theory of the Schrödinger operators [16] that the expansion of  $-f'' + qf$  is uniformly convergent on  $[0,1]$ , hence

$$\sum_{n=1}^{\infty} \lambda_n |c_n| < \infty. \quad (25)$$

Define the function

$$u := \sum_{n=1}^{\infty} \frac{c_n}{\lambda_n} u_n.$$

By (25) this sum converges uniformly (cf.(4)), hence  $u(0) = u(1) = 0$ . The series

$$\sum_{n=1}^{\infty} \frac{c_n}{\lambda_n} u_n''$$

converges also uniformly and twofold derivation gives that

$$u'' = \sum_{n=1}^{\infty} \frac{c_n}{\lambda_n} u_n''$$

and hence  $u$  is the /unique/ solution of (23). Now

$$\begin{aligned} \Lambda u(x) &= -u_{xx} + du - f = -\sum_{n=1}^{\infty} \frac{c_n}{\lambda_n} (u_n)_{xx} + \\ &+ \sum_{n=1}^{\infty} \frac{c_n}{\lambda_n} u_n(x)d(x) - \sum_{n=1}^{\infty} c_n u_n(x) = \\ &= \sum_{n=1}^{\infty} \frac{c_n}{\lambda_n} [- (u_n)_{xx} + d(x)u_n(x) - \lambda_n u_n(x)]. \end{aligned}$$

We apply here the estimates given in proving Theorem 1 to obtain

$$\max_{x \in \omega_h} | \Lambda u(x) | \leq c \sum_{n=1}^{\infty} \frac{c_n}{\lambda_n} (\lambda_n^2 h^2 + \sqrt{\lambda_n} h) \leq ch.$$

If  $q \in Lip1$  then

$$\max_{x \in \omega_h} | \Lambda u(x) | \leq c \sum_{n=1}^{\infty} \frac{c_n}{\lambda_n} \lambda_n^2 h^2 \leq ch^2.$$

Theorem 4 is proved.

**Remark**

We can also formulate the analogon of Theorem 4 for non-equidistant point system using the estimates of Theorem 2.

### 2.2 Uniform convergence of the solution of the difference equation (24) to the solution of (23).

In this point we consider the solution  $y = y_h$  of (24). Define

$$y_x := \frac{y(x+h) - y(x)}{h}.$$

We need the following results, representing the difference analogon of some inclusion theorems of S.L.Soboleff / [8], p. 118, 120./

#### Lemma 3

If a function  $y$  is given on the set

$$\bar{\omega}_h := \{x_i = ih : 0 \leq i \leq N\}$$

and  $y(0) = y(1) = 0$  then

$$\|y\|_c \leq \frac{1}{2} \|y_x\|$$

where

$$\|y\|_c := \max_{x \in \bar{\omega}_h} |y(x)|,$$

$$\|y_x\| := (y_x, y_x)^{\frac{1}{2}} := \left( \sum_{i=1}^N h y_x^2(x_i) \right)^{\frac{1}{2}}.$$

#### Lemma 4

If the assumptions of Lemma 3 hold, then

$$\frac{h^2}{4} \|y_x\|^2 \leq \|y\|^2 \leq \frac{1}{8} \|y_x\|^2$$

where



$$\| y \| := \left( \sum_{i=1}^{N-1} y_i^2 h \right)^{1/2}, y_i := y_x(x_i).$$

Now multiply the equality in (24) by  $y_i h$  and sum up over  $\omega_h$ , then we get

$$\sum_{i=1}^{N-1} (y_{xx})_i y_i h - \sum_{i=1}^{N-1} d_i y_i^2 h + \sum_{i=1}^{N-1} f_i y_i h = 0,$$

or, writing scalar products

$$(y_{xx}, y) - (d, y^2) + (f, y) = 0.$$

Using the difference analogon of the first Green formula / [8], p.110/ we get

$$-(y_x, y_x) - (d, y^2) + (f, y) = 0$$

i.e.

$$\| y_x \|^2 + (d, y^2) = (f, y).$$

Suppose that

$$d_i \geq 0, \quad i = 1, \dots, N - 1.$$

Then by the Cauchy-Schwartz inequality we obtain

$$\| y_x \|^2 \leq \| f \| \| y \|.$$

By Lemmas 3. and 4. we get

$$4\sqrt{2} \| y \| \| y \|_c \leq \| y_x \|^2$$

and hence the a priori estimate

$$\|y\|_c \leq \frac{1}{4\sqrt{2}} \|f\| \quad (26)$$

holds. Now take the solution  $u$  of (23) and consider the difference

$$z := u - y.$$

It obviously satisfies

$$z_{xx} - dz = u_{xx} - du - y_{xx} + dy = u_{xx} - du + f = -\Lambda u$$

by the terminology of Theorem 4. The estimate (26) and Theorem 4 give that

$$\|z\|_c \leq \frac{1}{4\sqrt{2}} \|\Lambda u\| = \underline{\underline{O}}(h).$$

So the following statement is proved.

**Theorem 5**

Suppose the conditions given in Theorem 4 further let  $q(x) \geq 0$ ,  $x \in [0, 1]$ . Take the solution  $u$  of (23) and  $y = y_h$  of (24). Then

$$\|u - y_h\|_c = \underline{\underline{O}}(h).$$

**Remark**

By Lemma 4 the operator

$$Ay := -y_{xx} + dy \quad 0 \leq d \leq c$$

is positive definite, namely

$$(Ay, y) \geq (y_x, y_x) = \|y_x\|^2 \geq 8 \|y\|^2.$$

Further  $A$  is also selfadjoint by the second Green formula / [8], p. 110/.

**Remark** On the application of the Taylor formula.

When approximating differential operators by difference operators, it is useful to use Taylor formulas / [8]/. This method requires that the functions from the domain of the operators be very smooth. E.g. for the differential operator  $Lu = u''$  it is known that

$$u'' - u_{xx} = \underline{O}(h^2) \quad (27)$$

whenever  $u \in C^4[x - h_0, x + h_0]$  and  $x$  and  $h_0$  are fixed ([8], p. 75). By a modified use of the Taylor formula we can prove the following proposition:

Let

$$u \in C^3[x - h_0, x + h_0], \quad u^{(3)} \in Lip\alpha \text{ on } [x - h_0, x + h_0].$$

Then

$$u'' - u_{xx} = \underline{O}(h^{1+\alpha}).$$

If  $u^{(3)} \in Lip1$ , then we get (27).

Observe that Theorem 1 gives (27) under more weaker smoothness condition. To prove the proposition, write the Taylor formulas consisting of four members

$$u(x+h) = u(x) + u'(x)h + u''(x)\frac{h^2}{2} + u^{(3)}(\xi_+)\frac{h^3}{6},$$

$$u(x-h) = u(x) - u'(x)h + u''(x)\frac{h^2}{2} - u^{(3)}(\xi_-)\frac{h^3}{6}$$

with some

$$\xi_+ \in (x, x+h), \quad \xi_- \in (x-h, x).$$

This gives

$$u_{x\hat{x}} - u''(x) = h \frac{u^{(3)}(\xi_+) - u^{(3)}(\xi_-)}{6}$$

which proves at once the proposition.

We can analogously investigate the case of non-equidistant nodes where  $u_{x\hat{x}}$  is defined in (14). We can assert:

Let

$$u \in C^2 \quad \text{and} \quad u'' \in Lip\alpha \quad \text{for some} \quad 0 < \alpha \leq 1.$$

Then

$$u'' - u_{x\hat{x}} = \underline{O}(\bar{h}^\alpha).$$

Indeed, by the three member Taylor formulas

$$u(x+h_+) = u(x) + h_+ u'(x) + \frac{h_+^2}{2} u''(\xi_+), \quad \xi_+ \in (x, x+h_+),$$

$$u(x-h_-) = u(x) - h_- u'(x) + \frac{h_-^2}{2} u''(\xi_-), \quad \xi_- \in (x-h_-, x)$$

we get

$$u_{x\hat{x}} = \frac{2}{h_+ + h_-} \left[ \frac{u(x+h_+) - u(x)}{h_+} + \frac{u(x-h_-) - u(x)}{h_-} \right] =$$

$$= \frac{h_+ u''(\xi_+) + h_- u''(\xi_-)}{h_+ + h_-} = u''(\xi), \quad \xi \in (\xi_-, \xi_+)$$

hence

$$u_{x\bar{x}} - u''(x) = u''(\xi) - u''(x) = \underline{\underline{O}}(\bar{h}^\alpha)$$

as we asserted.

The authors are grateful to the academician A.A. Samarskii and to professor J. Balázs for their attention to this work and for their valuable help and remarks.

## REFERENCES

- [ 1 ] **R. Courant**, Über Anwendung der Variationrechnung in der Theorie der Eigenschwingungen und über neue Klassen von Funktionalgleichungen. *Acta Math.*, 1926, 49, 1-68.
- [ 2 ] **L. Collatz**, Konvergenzbeweis und Fehlerabschätzung für das Differenzverfahren bei Eigenwertproblemen gewöhnlicher Differentialgleichungen 2. und 4. Ordnung. *Dtsch. Math.*, 1937, 2, No 2, 189-215.
- [ 3 ] **H. Büchner**, Über Konvergenzsätze, die sich bei der Anwendung eines Differenzverfahrens auf ein Sturm - Liouvillesches Eigenwertproblemen ergeben. *Math. Z.*, 1948, 51, No 4, 423-465.
- [ 4 ] **A. N. Tikhonov, A. A. Samarskii**, On homogeneous difference schemes /in Russian/, *Journal of Numerical Mathematics and Mathematical Physics*, 1961, I. No 1, 5-63.
- [ 5 ] **A. N. Tikhonov, A. A. Samarskii**, Sturm-Liouville difference equations /in Russian/, *Journal of Numerical Mathematics and Mathematical Physics*, 1961, I, No 5, 784-805.
- [ 6 ] **V. G. Prikaztsikov**, Eigenvalue problem for elliptic difference operators /in Russian/, *Journal of Numerical Mathematics and Mathematical Physics*, 1965, vol. 5, No 4, 648-657.
- [ 7 ] **A. A. Samarskii**, An introduction to the theory of difference schemes /in Russian/, *Naouka*, Moscow 1971.
- [ 8 ] **A. A. Samarskii**, Theory of difference schemes /in Russian/, *Naouka*, Moscow 1977.
- [ 9 ] **V. A. Il'in, I. Joó**, Uniform estimate of the eigenfunctions and upper estimate of the number of eigenvalues of the Sturm-Liouville operator with potential from the class  $L^p$  /in Russian/, *Differencialnie Uravnenija* 15, No

- 7, 1979, 1164-1174.
- [ 10 ] **V. A. Il'in**, On the convergence of the expansions by the eigenfunctions of a differential operator at the discontinuity point of its coefficients /in Russian/, *Mat. Zametki* 22, No 5, 1977, 679-698.
- [ 11 ] **I. Joó**, Upper estimates for the eigenfunctions of the Schrödinger operator, *Acta Sci. Math.*, 44, 1982, 87-93.
- [ 12 ] **I. Joó, A Sövegjártó**, On the local error of difference approximation of the one-dimensional Sturm-Liouville operator /in Russian/, *Second Conf. of Program Designers /July 8-9, 1986/* Ed. by A. Iványi, Budapest, 1986, 201-204.
- [ 13 ] **E. C. Titchmarsh**, Eigenfunction expansions associated with second-order differential equations /in Russian/, vol 1. IL, Moscow 1969.
- [ 14 ] **V. A. Il'in, V. A. Sadovnichin, Bl. H. Sendov**, *Mathematical Analysis /in Russian/*, Publ. of the Moscow University, Moscow 1985.
- [ 15 ] **I. Joó, A. Sövegjártó**, On the difference approximation of the Sturm-Liouville equation /in Russian/, *Third Conference of Program Designers, /July 1-2, 1987/* Ed. by A. Iványi, Budapest, 1987, 151-156.
- [ 16 ] **M. A. Neumark**, *Lineare Differentialoperatoren*, Akademie Verlag, Berlin 1960.

Received 12. 08. 1988.